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B.2

C.3

D.4

E.BothA & B

F.BothA & C

G.Both A& D

H. None of the above
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Examinees are required to adhere to the following instructions:

1. The use of calculators is strictly prohibited in this examination.
Only ;nswers recorded on the designated answer sheet will be considered for grading.

3. There are 10 questions in this examination. All questions are single-select multiple-choice questions,
meaning there is only ONE correct option for each question. If multiple answers are correct, you must
select the only option that includes all correct answers. If no option is correct, choose "None of the

above." For example:

Q0. Which of the following numbers is/are less than 3?
A.l

B.2

C.3

D.4

E.BothA&B

F.BothA&C

G.Both A & D

H. None of the above

In this case, the correct answer is E. Responses that are incomplete (e.g., selecting "A") or that include
multiple options (e.g., writing both "A" and "B" instead of selecting "E" alone) will not receive any

points.

4. On the first page of the answer sheet, list the question numbers in sequential order (e.g., Q1, Q2, ...,
Q10) and record only the corresponding options (e.g., Q0: E). Do NOT include any content other than
the question numbers and their respective answers on the first page.

5. There is NO need to provide calculations or write out the full content of the options.

6. Starting from the second pége of the answer sheet, you may use the space as scratch paper (contents of
the scratch paper will not be graded).

7. Failure to follow these instructions—including, but not limited to, omitting question numbers, unclear
numbering, or answers that are difficult to locate or identify—will result in no points being awarded.

8. Each question is evaluated independently, with no impact on the scores of other questions.
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Q1. (10pts) Consider a perfectly competitive market in a constant-cost industry where firms share the

homogeneous production function for output g, defined in terms of capital (K) and labor (L) as:

&

q(K, L) = KoL+

The interest rate and wage rate are given as » = 1 and w =2, respectively. In the short run, capital is fixed at K
= 1. The market demand is Q = 100 — 5P, where P is the price and P > 0. Which of the following statements

is/are true?

. 1+2q*
A. Short-run average cost is 2

B. Short-run marginal cost is 8q%*~*

Short-run average variable costis 2¢>

Q

/
The short-run supply function for each firm is: f;—i

=

Both A and B
BothAand C
Both A and D
Both Band C
Both B and D
Both C and D
A,B,and C
A,B,and D
LA, Coand D
B,C,and D
A,B,C,and D

None of the above

NOZZO AT Z oM

Q2. (10pts) Following Q1, if a = % . Which of the following statements is/are true?

. 6(-3/49)
6(=3/9)

The long-run cost function is: 8¢

The long-run average cost is: 8 -

. 6(=3/4)

The long-run marginal cost function is: 8¢

The long-run marginal cost is: 8+ 6(73/%)
Both A and B

Both Aand C

T HY 0w R
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G. Both Aand D
Both Band C
Both B-and D
Both Cand D
A,B,and C
A,B,and D

.A,C,and D
B, C,and D
A,B,C,andD

o ZE AT

None of the above

Q3. (10pts) Consider for a good x, the market demand and the market supply (without government

intervention) are:
Demand: g4 = 100 —P

(qs=10P—-10if P=1
Supply: {qs =0 otherwise

Here, P represents the price, and g; and q; represent the quantities. Assume the market is perfectly
competitive. Now, the government may introduce a policy imposing a per-unit tax of $10 on producers.
Under this policy, for each unit sold, producers receive P-10, where P is the price paid by consumers, and
$10 is collected by the government as tax. Which of the following statements is/are true?

A. Without the tax policy, the equilibrium price and quantity are 10 and 90, respectively.

. . : . gs =10P—110 if P=>1
B. With the tax policy implemented, the supply function becomes {Qs —0 otherwise

C. Without the tax policy, the producer surplus (PS) is nine times of the consumer surplus (CS) (i.e., PS
=9CS).

2
With the tax policy implemented, the producer surplus is 5 * (%)

Both Aand B
Both Aand C
BothAand D
Both B and C
Both Band D
Both Cand D
A,B,and C

2 R

~o=
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L. A,B,and D

M. A,C,and D

N. B,C,and D

0. A,B,C,and D

P. None of the above

Q4. (10 pts) Suppose a consumer has income M and faces two items, x and y, with a utility function as

u(x,y) = xy — 5y.Let p, and p, be the prices for x and y, respectively. Which of the following

statements is/are true?

A.
B.

~

= - E e Em

v o ZE ¢

The indifference curves are strictly convex to the origin if x > 1/5
This preference satisfies strict monotonicity.

M+5p,

The Marshallian demand function for x is o
X

M-5p,

The Marshallian demand function for y is o

Both A and B
Both Aand C
Both Aand D
Both B and C
Both B and D
Both Cand D
A,B,andC

A,B,and D

.A,CandD

B, C,and D
A,B,C,andD

None of the above

Q5. (10pts) Which of the following statements is/are true if someone has the utility function of two goods,

x, and X, as:

A.

B.

ulxy, xp) = (g =y (2 = Yz)B

If x4 is not pollutant, it must have a > 0

If x, is not pollutant, it must have f >0
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C. If y; > 0and y, > 0, a consumer with this preference will have a consumption set such that x; > 0
andx, > 0
It is pessible for a rational consumer to have y; < 0 andy, < 0.
Both Aand B
Both Aand C
Both Aand D
Both B and C
Both B and D
Both Cand D
A,B,and C
A,B,and D
.A,C,and D
B,C,and D
A,B,C,and D

None of the above

SO ZEZrAET@mO®EU

Q6. (10pts) Following Q5, assume that @ + f = 1 and market prices are p; and p,, which of the following
statements is/are true? )
S . ap\¥
A. The Hicksian demand for good 1is hy = u (Ep—) +7
2

i 1 : - By «
The Hicksian demand for good 2 is h, = u (——-) +¥>

axpz

w

The expenditure function is homogeneous in prices.
The indirect utility function is p; *p, g af[M — pyy, — D2V2], in which M is the income.
Both Aand B
Both Aand C
Both A and D
BothBand C
Both B and D
BothCand D
A,B,and C
A,B,and D
.A,C,and D
B,C,and D
A,B,C,and D

Czr R @maoa®™Emg 0
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P. None of the above

Q7. (10pts) Consider a game represented by the following matrix, involving two players, P; and P,, each

with two pure strategies, O and F. In each cell, the first number represents Player P;'s payoff, and the second

number represents Player P,'s payoff, Which of the following statements about the Nash equilibrium of this

game is/are true?

P

0]

F

PO 3,1

0,0 -

F 0,0

1,3

This game has three Nash equilibria.
This game has four Nash equilibria.
Both A and B
Both Aand C
Both Aand D
Both B and C
Both B and D
Both Cand D
A,B,and C
A,B,and D
A,C and D
B,C,and D
A, B,C,and D

None of the above

SO ZEgEARSSZamEY 0w >

There is a Nash equilibrium of this game where P; plays O and P, plays O.
There is a Nash equilibrium of this game where P; plays F and P, plays O.

Q8. (10 pts) Consider a game represented by the following matrix with incomplete information: two players,

P, and P,, each with two pure strategies, O and F. In each cell, the first number represents Player P,'s

payoff, and the second number represents Player P,'s payoff. P; knows k but does not know the value of m.

P, knows m but does not know the value of k. Yet, both players know that k and m are independently and

uniformly distributed over [0, x].




S 234 BRE HI0E

P,
0 F
PO |2+k1 0,0
: F 0,0 1, 24m

Now consider a pure strategy Bayesian Nash equilibrium of this game where:

P, plavs {0 if k is above a threshold k*
1 P&y F otherwise
0 if misbelow a threshold m*
1
Py plays {F otherwise

Which of the following statements is/are true?

A k*=m"=1.
B. k*=m"=1/3.

C. k"=m*=3+ Vg;"”‘.

D. The probability that P; plays O and the probability that P, plays F approach 2/3 as x approaches
Zero.
Both A and B
Both A and C
Both A and D
Both B and C
Both B and D
Both Cand D
A,B,and C
A,B,and D

.A,C,and D
B,C,and D
A,B,C,and D

None of the above

TozZg AT ma®d

Q9. (10 pts) Consider a game in which N players are asked to choose any number in [0, 100]. Let x; be the

choice of player i = 1,...,N. The player whose choice is closest to 2/3 of the average of all players’ choice

(ie, X = %Z{i_l x;) earns $100 and everyone else earns $0. That is, the payoff of player i is the following if

there are no ties:
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ui(xl, .

) = {100 if |, = 22| = min }x; — 22|, for all j = 1, ., N}

0 otherwise

When there is a tie, the players who tied split $100 evenly. Which of the following statements regarding the

iterated elimination of dominated strategy (IEDS) solution of this game is/are true?

A.

MY oW

7

v o zZgEr

-~ mom

The IEDS (weak dominance) solution is 100

The IEDS (weak dominance) solution is 200/3

The IEDS (weak dominance) solution is 0

All players have to be perfectly rational for the IEDS (weak dominance) solution
Knowledge of perfect rationality among all players is not a necessary condition for the IEDS (weak
dominance) solution

Both Aand D

Both Aand E

Both B and D

Both B and E

Both Cand D

Both Cand E

Both Dand E

.A,D,and E

B,D,and E
C,D,and E

None of the above

Q10. (10 pts) Which of the following statements is/are true?

A.

If a demand function is linear, the price elasticity of demand becomes inelastic as the quantity
demanded approaches zero.
If all individual demand functions are linear, the aggregate market demand function must also be

linear.

Consider an economy with two goods, x and y, and two farvmers who both produce and consume these
goods, no government intervention is sole necessary condition for achieving an optimal outcome
derived from a perfectly competitive market.

If the right to emit CO2 is well-defined, the economy will reach an optimal outcome regardless of how

this right is allocated.

E. BothAand B

Both Aand C
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G. BothAand D
Both Band C
Both }% and D
Both C and D
A,B,and C
A,B,and D

A, C,and D
B,C,and D
A,B,C,and D

None of the above

v o ZZ KR orom




